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B (18 ha, #1118 m°)

T . = -~ 2 i
§§ HE & H;E % iR =R [ ® 5% U r_—
76,820 502,093 T498,836 | 13,257]
SEOR 22 F O Elg £ 2,856 (6,268) 330,165 (6,175) 329,465 94) 700
13,874] 1268,041 263,827 14,214)
SEOR 238 F Elg £ 3,530 (2,086) 397,939 (1,985) 397,478 (101) 461
r3,121] 189,066 | 186,502 12,565
SEOR 24 F El 2 4,600 546,614 546,165 449
2,705 151,306 145,686 | 15,620
SEOR 25 F Elg £ 3,687 (89) 443,107 (89) 442,290 817
11,429 194,481 | 91,161} 13,320
T R 2 F Elg ® 3,670 (8,737 498,844 (8,652) 498,301 (84) 542
= % 69 (8,737) 20,661 (8,652) 20,408 (84) 253
- % - - - -
R [ - - - -
# B >3 4 1,329 1,329 -
21 % 3,598 476,854 476,565 289
1487] 285 1270} r5)
=l Al & =4 3 804 764 41
& % - - - -
i % - - - -
iR % - - - -
#® ] >4 - - - -
il % 3 804 764 41
82] 19,897] 19,294 1603
= '/ (B ® 70 8,121 8,121 -
= [ - - - -
- % - - - -
R % - - - -
# B % - - - -
il % 70 8,121 8,121 -
135] 13,887] 13,806 81
=5 =ZE (# =4 186 28,827 28,784 43
& % - - - -
o % - - - -
iR % - - - -
#® ] >4 - - - -
il % 186 28,827 28,784 43
180 11,752] 11,322] 1430
HE HE (8 2 67 9,042 9,012 30
= % - - - -
o % - - - -
R % - - - -
# B % - - - -
8 % 67 9,042 9,012 30
1266 14,892] 14,480] 412)
£EE EE |# # 566 90,033 89,988 45
& % 3 1,725 1,702 22
o % - - - -
iR % - - - -
#® ] >3 2 758 758 -
i % 560 87,551 87,528 22
149 124,956 | 124,947 110}
L AL | #® 505 65,951 65,951 -
E % - - - -
# % - - - -
R % - - - -
# B % - - - -
il % 505 65,951 65,951 -
37] 13,309] 13,050] 1259
5H B |# % 441 46,869 46,869 -
& % - - - -
ot % - - - -
iR % - - - -
#® ] >3 - - - -
il % 441 46,869 46,869 -
32] 13,564 13,474) 91
BiR SR |# £ 307 53,294 53,212 81
= % 15 7,425 7,358 67
- % - - - -
R % - - - -
# B % - - - -
iz % 292 45,868 45,854 14
113 112,407 112,288 1120
R R |4 # 644 91,951 91,909 43
& % 12 3,825 3,802 23
o % - - - -
R % - - - -
#® ] >3 - - - -
i % 632 88,127 88,107 20




B (FFE ha, M58 m°)

f: e E i # ®
AN P e mH © u 8 = 8 & % #
136 112,296 12,157 139
/N4 RS [# # 414 (8,686) 46,585 (8,652) 46,524 (33) 61
& % 27 (8,686) 2,323 (8,652) 2,296 (33) 27
o % - - - -
iR % - - - -
#® ] >3 - - - -
il % 387 44,262 44,228 34
39 110,424 710,109 r315)
/=] T £ 235 27,640 27,627 14
= >3 5 1,864 1,864 -
;“!ﬁ % - - - -
R % - - - -
# B >3 1 571 571 -
il % 228 25,206 25,192 14
136 14,265 13,620] 1645
CREKRR) By (8 %% 7 1,128 1,128 -
& % - - - -
it [ - - - -
iR % - - - -
#® ] >3 - - - -
i % 7 1,128 1,128 -
120 11,547] 11,184] 1363
([ # 0 15 15 -
E % - - - -
# % - - - -
R [ - - - -
# B % - - - -
i % 0 15 15 -
16 12,718 12,436 r281)
KR |#& 4 7 1,113 1,113 -
& % - - - -
i % - - - -
iR % - - - -
#® ] >3 - - - -
il % 7 1,113 1,113 -
125] T1,111] 913 1198
(ER) =R (& #® 126 (51) 13,444 13,432 (51) 13
E >3 1 (51) 13 - (51) 13
;“!ﬁ % - - - -
R [ - - - -
# B % - - - -
il % 125 13,432 13,432 0
M3y I1,435] 11,431 4]
(/) wo |4 # 99 15,154 14,981 173
& % 5 3,487 3,385 102
i % - - - -
R % - - - -
#® ] >3 - - - -
i & 93 11,667 11,596 72
r487] 285] 1270} r5)
RAIES aNl|# 4 3 804 764 4
E [ - - - -
# % - - - -
R % - - - -
# B % - - - -
il % 3 804 764 41
82] 19,897] 19,294] 1603
'/H (8 # 70 8,121 8,121 -
& % - - - -
bt [ - - - -
iR % - - - -
#® ] >3 - - - -
il % 70 8,121 8,121 -
135] 13,887] 13,806 81
ZE |#& #® 186 28,827 28,784 43
E % - - - -
# % - - - -
R % - - - -
# B % - - - -
il % 186 28,827 28,784 43
180] 11,752] 11,322] r430]
HE |8 # 67 9,042 9,012 30
& % - - - -
o % - - - -
iR % - - - -
#® ] >4 - - - -
il % 67 9,042 9,012 30
120 11,547] 11,184] 1363
R ([ #® 0 15 15 -
= % - - - -
;“!ﬁ % - - - -
R % - - - -
# B % - - - -
8 3 0 15 15 -




B3 (FE ha, #15&:m°)

f: e E i # ®
g **;E & WI;'E E HRERAER [ @ u P R

16 12,718 12,436 r281)

Kb |# 4 7 1,113 1,113 -
& >3 - - - -

o % - - - -

iR >3 - - - -

#® ] >3 - - - -

il % 7 1,113 1,113 -
1266 14,892] 14,480 T412]

EE |#& # 566 90,033 89,988 45
E >3 3 1,725 1,702 22

;iﬁ >3 - - - -

R % - - - -

# B >3 2 758 758 -

il % 560 87,551 87,528 22

125] 1,111] 913 1198

=R [# # 126 (51) 13,444 13,432 (51) 13
& % 1 (51) 13 - (51) 13

i % - - - -

iR >3 - - - -

#® ] >4 - - - -

il % 125 13,432 13,432 0
1149 124,956 | 124,947 110}

AL | 24 505 65,951 65,951 -
= [ - - - -

- >3 - - - -

R % - - - -

# B % - - - -

il % 505 65,951 65,951 -

37] 13,309] 13,050] 1259

B |#& # 441 46,869 46,869 -
& >3 - - - -

o % - - - -

iR >3 - - - -

#® ] >4 - - - -

il % 441 46,869 46,869 -

32] 13,564 13,474) 91

BiR |# £ 307 53,294 53,212 81
= % 15 7,425 7,358 67

# >3 - - - -

R % - - - -

# B % - - - -

8 % 292 45,868 45,854 14
r113] 112,407 112,288 1120

21T ES # 644 91,951 91,909 43
& % 12 3,825 3,802 23

o % - - - -

iR >3 - - - -

#® ] >3 - - - -

il % 632 88,127 88,107 20

M75] 122,719] 722,265 T454)

LS |# £ 649 (8,686) 74,225 (8,652) 74,151 (33) 74
= [ 32 (8,686) 4,186 (8,652) 4,160 (33) 27

;iﬁ >3 - - - -

R % - - - -

# B >3 1 571 571 -

i % 616 69,468 69,421 47

3] 11,435] 11,431] T4)

[T m =4 99 15,154 14,981 173
& % 5 3,487 3,385 102

o % - - - -

iR >3 - - - -

#® ] >3 - - - -

i &% 93 11,667 11,596 72
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